
 
 

DEFENSIVE AND COMPETITIVE BIDDING LEADS AND SIGNALS W B F CONVENTION CARD 
OVERCALLS (Style: Responses: 1 / 2  Level; Reopening) OPENING LEADS STYLE   2nd/4th   

CATEGORY:  RedNAT 5(4)+ 8+HCP (Drury)  Lead In Partner’s Suit 
NCBO:  Poland Suit 2/4 2/4 
PLAYERS: Joanna Taczewska – Katarzyna Dufrat  NT 2/4 2/4     (3/5)*

 Subseq attitude
 Other:  *lead in unsupported P suit: 3/5, Xx, xxX … 
 

SYSTEM SUMMARY 1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS 
GENERAL APPROACH AND STYLE2nd 1NT 15-17 (system ON) Lead Vs. Suit Vs. NT 
POLISH CLUB4th 11-15 BAL Ace AK+ Same 
1 = 1) 11-14 BAL or 4414 2) 15+ 5+ 3) 18+ ANY   King AK, KD(+) Same 
      then 1 = 1) 0-6 ANY 2) 7-11 minor(s) 3) 16+ BAL  Queen QJ(+); KQ109(+) Same 

1NT =15-17BAL (5M, 6m, 5431 poss) Jack J10(+), AJ10(+), KJ10(+) Same 
2 = 11-14 5+ 4M or 6+10 10x, H10x, H109(+) Same JUMP OVERCALLS (Style; Responses; Unusual NT)  
2 = 6+/ 5-10                                        9 H9x, 109+ Same Weak 
2/ = 5-10 5+/5(4)+m                              (3rd. = Hi-X Hxx, Hxxxx(+), xxx+ Same Leaping Michaels 
2NT = 5-10 5+5+Lo-X xx Same  Reopen: constructive 
SPECIAL BIDS THAT MAY REQUIRE DEFENSE SIGNALS IN ORDER OF PRIORITY  
  Partner’s Lead Declarer’s Lead Discarding DIRECT & JUMP CUE BIDS (Style; Response; Reopen) 
As above 1 LOW=ENC LOW=EVEN LOW=ENC (1)-2  - 5+5+ 5-10 or 16+

Suit 2 LOW=EVEN S/P LOW=EVEN(1)-2  - 5+ 5+min 5-10 or 16+
3 S/P  (1)-2  - 5+ 5+min 5-10 or 16+ (VULN vs. NVULN 11-15)
1 LOW=ENC LOW=EVEN S/P 

NT 2 LOW=EVEN S/P LOW=EVENVS. NT (vs. Strong/Weak; Reopening;PH) 
3 S/P  VS strong:  x=5m4+M, 2=MM 5+4+, 2D= one M, 2/=5+/4+m

Signals (including Trumps): S/P in trumps                    2NT=minors
Smith’s Echo: LOW=ENC        reopen: x=t/o 9+, 2=MM 5+4+, 2//= nat, 

 
DOUBLES VS weak: x=13+t/o, other like after 15-17  

       reopen/after pass: X=10+ t/o, other 15-17 TAKEOUT DOUBLES (Style; Responses; Reopening) 
VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids) 11+HCP   (after P pass, may be weaker with good shape) 
Jumps are constructive, Leaping Michaels, NT=NAT, X=t/o  

  SPECIAL FORCING PASS SEQUENCES 
  When we bid game in attack 
SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS VS. ARTIFICIAL STRONG OPENINGS- i.e. 1 or 2
1-(1)-X=4+ 7+HCP      1-(1)-X=4+ 7+HCP 
1-(1)-X=4+ 7+HCP      1-(1)-X= trf to NT 7+HCP

VS 116+: X=blacks/reds, 1=MM/mm, 1/=nat, 1NT=/, 
2/=nat IMPORTANT NOTES 

SUPP DBL VS 1 2+crds: 2=5+4+ MM Nonvul. 3H/S preempts may be destructive. 
Leightner DBL   
SOS RDBL OVER OPPONENTS’ TAKEOUT DOUBLE 

TRF on lvl 1 after 1/ openings
1NT- 2M are TRF bids after 1/-[X]
                   

 
PSYCHICS: often 
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1 X 0 4S 11-14 BAL or 4441, 15+ 5+, 
18+ ANY  

1=0-6 ANY, 7-11 minor(s), 16+BAL  1-1-1/=NAT 3+ NF;  
1-1-1NT=18-21BAL (1) 

 

     1/=4+/ 7+HCP, 1NT=7-10 no 4M, 2/2=5+GF, 
2=5 4(5) 5-9, 2=INV 4+5+ minors, 
3/=6+/ INV, 3=AKD-7 in minor, 3=tfr to 3NT

1-1-2NT=21-24BAL 
1-1/-2= 18+ 3+M relay (2) 
Double Checkback 

  

      1-1//-2= 5+ 15+ (3) 
1-1/-2-2= art GF 

 

1  4 4S 11-21 5+, 4441,  
11-14 4 5  

1/ 4+hcp , 1NT NAT, 2=nat GF, 2=10+ 3+ no 
4M, 2=4(5) 5 5-9, 2=6+C 9-11, 3=7-10 3+  

1-1/-2NT=GF 
Double Checkback (4) 

 

1  5 4S 11-18 5+ 2= GF semi nat, 2=nat GF, 2=inv 6+/ 
2NT= INV with shape (3)4+, 3=5-9 4+, 3= INV 
with points 3+, 4=7-11 (4)5+ good 4 raise 

Double Checkback Drury, suit+supp 

1  5 4H 11-18 5+ 2= GF semi nat, 2 GF, 2NT= INV with shape (3)4+/ 
INV with points 3+ /5-9 4+, 3/=nat INV 4=7-11 
(4)5+ good 4 raise 

Double Checkback Drury, suit+supp 

INT   4H 15-17BAL  2=stayman, 2NT=INV, 2/3=trf to /, 3=nat 
INV, 3/=shortness min 54  

1NT-2-2-2=5+4+NF 
1NT-2-2-2=4 (5+min) NF 

 

2  X 5 4H 5+ 4M or 6+ 11-14 2=relay, 2/=NF, 2NT= puppet do 3, 3=inv to 
3NT, 3//= 6+ INV 

2-2NT-3-3=inv 55, 3/=5/ 5 GF, 3NT= 
GF 5, PAS=pree on  

 

2 X 0  6+/ 6-10HCP  
 

2/=P/C , 2NT=relay, 3=GF on self suit (no) 
/twosuier, 3=INV both supp, 3=P/C pree, 3=nat GF, 
4=bid your suit with TRF (then passes are forcing), 4= 
bid your suit directly (passes not forc), 4/=to play 

2-3-3(aut)-3/4/ = GF nat 6+ 
2-3-3(aut)-3NT = GF twosuiter 
then: 4(aut)-4=+ or +, -4=+ or +,  
                     -4=+ 

 

      2-2NT-3= any min (3 GF asks: 3= 3=, 
3=P/C)    -3/=max with / - 3/3NT= 
AKDxxx in / 

 

2 (3rd) X 0 3D 5-12 5+4+/ 2/=to play, 2NT=bid 3 and pass, 3/=INV to 
4/ 

  

2 X 5 3D 5+ and 5(4)+/ 5-10 2=nat NF, 2NT= Relay, 3=P/C, 3=INV to 4 2-2NT-3min-3=GF on , -2nd min=GF on min  
     3=nat GF  2-2NT-3min-3=NF  
2 X 5 3D 5+ and 5(4)+/ 5-10 2NT= Relay, 3=P/C, 3=INV to 4, 3=nat GF 2-2NT-3min-3=GF on , -2nd min=GF on min  
      2-2NT-3min-3=NF  
2NT X   5+5+  5-10 3=relay (asking about shortness), 3=nat GF   
3  6  7(6)+ NAT F1   
3  6  7(6)+ NAT F1   
3  6  7(6)+    
3  6  7(6)+    
3NT X   Gambling, no side stopper 4=asks about shortness   
4  6  PREE    
4  6  PREE    
4  6  PREE    
4  6  PREE    
4NT X   11+ crds in +    
      HIGH LEVEL BIDDING  
      Blackwood  012 +Q +K (102 on ), when asked on / we show colour kings  
      Excl Blackwood  
       



SUPPLEMENTARY NOTES 
 
(1)  1-1*- 1NT= 18-21 BAL 
   2= ANY GF  (then: 2=0-3hcp, 2=4-6hcp, 2NT=7-9 5+4+/, 3/=7-11 6/, 3/=4-6 NAT min KJ10xxx) 

2NT= 22-24 BAL 
   3NT=to play 
 
(2)  1-1/ 

2* = 18+ 3+/ RELAY 
  

then: 2= 4M 7-10hcp      (7-9 after pass) 
 2= 5+M 7-10hcp  (2NT = relay)  (7-9 after pass) 
 2NT= 4M 10+hcp     (9+-11 after pass) 
 3/= 5M 4+/ 10+hcp   (9+11 after pass) 
 3= 5M 4oM 10+hcp    (9+11 after pass) 
 3= 5M332 10+hcp    (9+11 after pass) 
 3NT = 6M332 10+hcp    (9+11 after pass) 
 4// = splinters 6+M 10+hcp (on  4=spl ) (9+11 after pass) 
 
1-1/ 
2*-2* 
2NT*   answears as above (3/= 4+/, 3=4oM …) 
 

(3)  1-1/ 
2-2* = GF 9+hcp ANY (exc 5+-5+ shapes) 
 
then: bidding is natural 

 
(4) Double Checkback 
 

1-1 
1-? 

1-1 
1NT-? 

1-1 
1NT-? 

1-1 
1-? 

1-1 
1NT-? 

1-1 
1NT-? 

 
 2 =  1) NF with  
  2) any INV 
  3) 12-15 5M332 
 
 2 =  any GF  
 


